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22| A= 1 = % % XA
67 ([1A8H |HEAX#H= EL = HAXBEEITEESR 4,000
68 (1A9A |XitHBEHEFER =F Xieth= 2,000
69 [1A128 |[TRBHZEERAEFTH EFx T 10,000
70 [1A12B |TREREEHIE FH AboR—ILERE 8,532
71 NA138 |8 - FREANYV S THESR =8 B/-FREAITT 500
72 1A158 |BEAV S TEERSHESR =8 ZEANITTEER 3,000
73 [1A188 |(ELIXEHER =& HEIXS 3,000
74 [1R18H |[BMISEEHHER =& EAIHFER 6,000
75 (1A198 |BEXNBNSAXHBBHRS =& EMHFENS A 4,000
76 (1A218 |RBMLHELEEGEREBETHR EF# T 9,000
77 (1A258 (2HAHFEBHRE =8 EHYREFARS 6,000
78 |[1A250 |S2AFTEREZAM20 1 9FHARKR EL = CREFREN 10,000
79 [1A25H BMHFERILE =8 EEER 3,000
80 [1H268 |[XILHBEFHERRE EL = Xt 1,000
81 [1A318 |KENEHEEREBHRS EL = KRFEHERES 6,000
1A4GE (15 #4) 12,032




